AG — Unit 4 Retest REVIEW:  Neme HICSCA
Polynomials and Radicals

Period Date

A&d, subtract, or multiply the following as indicated. Write your answer in standard form.
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Find the Perimeter or Area of the following:

10. Find fhe Perimeter: 11. Find the Area: 12. Find the Area:
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13. Find the volume (no parentheses in answez).
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0. A model of a house is shown X iﬂt&d up
What is the perimeter, in units, of the mode!? ey g S
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12. 1 2x"—5x+ 7 is subtracted from 13.  What is the resulting polynomial when
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14. Which of the fellowing Is an irrational 15.  Which of the following is not a ratianai . {fﬁ@f
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Will the end result be rational or irrational?
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Simplify the following Radicals without a calculator. No decimals allowed.
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